1/ Exercice 1

-+ identification

= introjection (construction du Surmoi)

- projection

-» déplacement (sur le corps = hystérie ; sur un objet = phobie ; sur une idée =
obsession)

-+ rationalisation

-= dénégation

-+ refoulement

== formation réactionnelle

- régression

= intellectualisation

=% annulation

= compensation

=% substitution

=& sublimation

11/ Exercice 2

=% sublimation

-# rationalisation

=% dentification

=% intellectualisation
- régression

-= dénégation

- compensation

== déplacement

== projection

=% formation réactionnelle
-+ refoulement

=% annulation

=& introjection

=% substitution
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